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CrosswordRetail • Norm Feuti (Sample)

For Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

Baby Blues • Rick Kirkman & Jerry Scott (Sample)

 There’s Only One Right Play
Assume you’re declarer with the South hand at five

diamonds. West leads the king of hearts and shifts to the
deuce of spades. How would you proceed?

The actual South played low from dummy, losing to
East’s king. East then exited with a spade to the ace, and
when the clubs later turned out to be divided 4-1, declarer
went down one.

South should have made the contract, however. His
downfall came at trick two, when he should have gone
up with dummy’s ace of spades instead of playing low.
This was the right thing to do for the best possible rea-
son: Playing the ace guarantees the contract 100 percent
regardless of who has the spade king or how the clubs
are divided.

Observe what happens if declarer takes the ace at trick
two. He next plays the ace of trumps, ruffs a heart in
dummy and cashes the ace of clubs. After these prelimi-
nary moves, he then exits with a spade.

It doesn’t matter to him which opponent wins the trick.
In the actual case, East takes the king, but has no effec-
tive return. A heart or spade lead yields a ruff-and-dis-
card, permitting South to dispose of his club loser; a low
club permits declarer to win with the eight; a high club
is taken in dummy and, after West shows out, leaves
declarer with a marked finesse against East’s remaining
honor. The contract is likewise certain if West is the
player with the king of spades. After taking the king, he
would have to present declarer with a ruff-and-discard,
or else make a similarly suicidal club return. Either way,
South is sure to score 11 tricks.

Of course, it might have turned out that the clubs were
divided 3-2 all along, and that either spade play from
dummy at trick two would have been successful. While
this is true enough, the fact remains that a method of play
that is likely to succeed is not nearly as good as a method
of play that is sure to succeed.
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 You are South, both sides vulnerable. The bidding has
been:

 South      West     North   East
 1 [C]       Pass      1 [H]   1 [S]
 ?
What would you bid now with each of the following six

hands?
1. [S] Q94 [H] Q2 [D] K83 [C] AQ765
2. [S] 4 [H] KQ83 [D] AK6 [C] KQ873
3. [S] 87 [H] K64 [D] KQ5 [C] AJ732
4. [S] KJ94 [H] 5 [D] A92 [C] AKJ43
5. [S] 85 [H] AJ74 [D] AQ [C] KQ652
6. [S] AJ8 [H] Q2 [D] A10 [C] AQJ964

                        * * *
1. Pass. East’s spade overcall relieves you of the ob-

ligation to respond to partner’s heart bid, and by far the
simplest way of letting him know you opened a minimum
is to pass.

To bid one notrump at this stage would tend to indi-
cate something more than a dead-minimum opening,
while to bid two clubs would show a better hand and a
stronger suit than you have.

2. Four hearts. You certainly aren’t going to play this
hand in less than game, so you bid four hearts to show
the expectation of making 10 tricks even if partner has
only six points.

Three hearts — a nonforcing bid — would be alto-
gether inadequate.

3. Two hearts. Admittedly, you’d like to have four
trumps for the raise, but three is all they dealt you. Rais-
ing with three-card support is surely better than passing
and running the risk that partner will allow East to play in
one spade.

4. Double. With six probable defensive tricks in your
hand, and a partner likely to contribute at least one or
two more, the best contract appears to be one spade
doubled played by East.

Some of the biggest profits in bridge are collected on
hands where the opponents bite off more than they can
chew.

5. Three hearts. Game prospects are good, but not
good enough to ensure 10 tricks.

All you can properly do at this point is make a jump-
raise to invite partner to undertake game. If he passes,
which he might do with a bad hand, he may have to
struggle to make even nine tricks. The raise to three
hearts shows 16 to 18 points, including distributional
values.

6. Three notrump. It would be wrong to bid only two
notrump or three clubs at this stage, either of which part-
ner could pass with minimum strength for his one-heart
bid.

You should feel confident of making nine tricks in
notrump and disregard the relatively few hands partner
might have that would not produce a good play for game.


